BAR R EET ¥

<
¥

PRE AR

LA HHR T
j\Ié'*‘;ll ;ﬁa‘\ ’E, 2’{

»

FATFE e ~ B

B
o R R

NiEA R RHRER LR ¢

£

R HER

» 22
kT

EIETY

_:E‘/%;Q,\J > 7

Z - FAEEIOR T WE

H#A o~ FHEFRFK

* A A BIRRAR B AR » E 0 732 1
NEELTT) -
) JIREE 6 SrefESHE AR T BRSHE , RE 8 % RFRERARZSH -

TE
AN

w24
JE\

0

10 532 ¥4

HHEERA

» B R AREHERS (0 0%

fm%

%
R

8 9 10

é\x/%ﬂ_n

’10§j\,\ rj]j

¥ P #ic
. KENFRF R | gy T
AL e A (f Zp~ (e & 2§ i e ek ik é%,,, ;% i i’%
- 16 e m g - (BTN Ak
7 # 5 - *’f ,}Ztr‘ épﬁ,&qﬁ'«_ﬂ o 40
- %\#g%ﬁlﬁwagiﬁ N
) +) e AR 12
LA RS H B RS
AR RAL S B A R
BHERFE P Ee TER
§> (F=5Y)
T AFERFE SN ARR AL
Ll (&egy)
L -
W5 EALE-RNEF AR
Lad 2 33
% (&E§ )
%
1 16.348 7B K22 A FHFE
(&a§ )
[SREE R S -2 b R Y
(#i=8 Y )
8. L B-L B FE RS E
(=g Y)
9.£1& L3 & EIAT
10.% % .3
.
LA A
At
e ,
|12 P2
iia
13.5% »c ¥ 78 2
14. B 54 22 42 4
1
GreET™-F)




=53 S 23
as (5R5%)
. - i " N B R HTT L FERE Ty FERY 2Ty )/ T iR
AL A " (?f B (quf i& Hoow (?f% ERN 1 (eht 6 (e 36}\;— mEakar
i »%(‘ > »%(ﬁ_ff_vl gbﬁlﬁﬁﬁ_@%.
+) ;Q‘EM) . %) A PO | | 2 11213
~ |15 SRR i 2 % AT 9
i
B 1R R 2 Bk % bl 3
SIS B F N S R ES R SO
2 . 4
‘? +
I+ 118,248 A R R H1 R & % b f2de ,
(=59 )
19. 2739 % 33 (9 #an) 4
2025 * B (g Y) 3
2L 2333 % 33 (Adh ) -F 414 !
B (&=5Y)
22,277 * 53F (A#HER) A EEFA L
5T Z (=g y)
T , . ” )
e |28 43R BiE (A#HE ) MR .
;% N (=g Y)
APy K £ Fo Rrg B PR AR 3
;ﬁ . S l“j——,—» AN
B |25 Ercirer e PRI (A#HE - ) 1
(E=5 Y )
26 Ere i et R (A#HE - ) 1
(F=8Y)
27. 23R 1V 3 B (2 ¥ 35423 ): 2050 ;£ 1
R R BOT - (EFY)
28. % 3R A (g Y) 1
H |20 g A i AL E 1
@ (=g y ) (FerEi)
30" E R E R (=5 V) 1
AR Pk
= R
AL A b | (derz 64 BmEd
i‘ (rrdbrihzd) iy g SR Y
g
= 52 d
1.
LR ek
2,

(GGrd&T™ -

—_

P\

)




—

oML Tt E
AR
—  BAn AR EE R ACIUZ - 7 0 70 2 10 70 Z[HaFoy » B AEREHERGS (005 ' e NwmE 10 05 ' 58
ERE L NEEI ) e
T AMEE SR TR, AIRE 6 rEEERER -
s e
A= D Th=
o 1 2 3 4 5 6 7 8 9 10
R P
=i e
PREE L, KERE . R &
CEUER S EORN A s A pest (Rimdid
PR ()
OOOO0O
B ‘ ‘
ﬂq‘a‘%ﬁ/;fii'—iﬂ:ﬁ‘%ﬁ e
s ()
OOOO0O
ZRe FHERZHEA
"SRR, 0 10

¥

Lo
FI=]E

N UEERE L o NEEWT) -

ARS8 R TR AIRE 6 rEEEREN -

FARREHERIR IR - 75 0 70 2 10 0 Z[ERFy - B R REREHE S

s St
e RIS
o 1 2 3 4 5 6 7 8 9 10

—_ N g)"ﬁgﬁ%ﬂzf}:
R S8 2 T R
=~ %‘p'}i,?? "gg“%i




